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convert km to m Q

def convert_distance(distance,unit):
if unit=="km":
converted_distance=distance*1000
new_unit="m"
return converted_distance,new_unit
elif unit=="m".
converted_distance=distance/1000
new_unit="km’
return converted_distance,new_unit
else:
return “Invalid input’

I,

try:

distance=int(input("Enter the distance: "))
unit=input("Enter the unit as 'km'-kilometer or ‘'m-meter: ")
print(convert_distance(distance,unit))
except:

print("invalid input”)




299

find average 2

print("Enter the sum of n numbers and find avg")
print("Enter the number:")
a=|] _
foriin range(1,6):
n=int(input("Enter the "+str(i)+" number:"))
a. append(n)
print("a=", a)
sum=0
foriin (a):
sum=sum-+l
print("The sum of a is:",sum)
avg=sum/n
print("The average is:", avg)
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&  sum of natural numbers Q

print("find the sum of natural numbers? ")

n=int(input(" Enter the value of n:"))
sum=0

=1
while I<=n:
sum=sum-i
=i+
print(" The sum valueis *, sum)




&~  oddoreven number2 Q

print("enter the number:
n=float(input())
If N%2==0:
print("This is even number")
else:
print("This is odd number ")




< fibonacci series using ... Q

.

def fibanacci():

fibanacci=a

return fibanacci
n=int(input("Enter n value:"))
a=0
D=1
1=0
print("The fibanacci series is:")
while i<n:

print(fibanacci())

c=a+b

a=Db

D=C

j=i+1




even and odd find

n=int(input("Enter the number: "))
even=[]
odd=[]

foriinrange(1, n+1):
It 1%2==0:
even.append(i)
else:
odd.append(i)
print(" The even:”)
for X in even:
print(x)

print("The odd:")
for y in odd:
print(y)
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sum of odd and even ... Q

n=int(input("enter the value:"))
even=||
odd={}
sum=0
add=0
foriin range(1, n+1):
It 1%2==0:
sum=sum-i
else:
add=add+i

even. append (sum)
odd. append (add)
print("sum of even:")
print(even)
print("sum of odd:")
print(odd)




gcd code Q

a=int(input("a: "))
b=int(input("b: "))
rem=a%0
while rem!=0:
a=Dp
D=rem
rem=a%Db
print(" gcd of the no:’, b)




sum of numbers

print ("Enter the total no. of. array:’)
n=int(input())

=0

sum=0

a=[i foriin range (n)]

for i in range(0,n):
print("enter the element:")
ali]=int(input())

print("The elements in array are. )
foriin range (0, n):
print(alil)

foriin range (0, n):
sum=sum-+ali

print (" the sum of all elements:", sum)




prime number

def is_prime(num):

It num>1:
for i in range(2,num):

if numM%i==0:
return False

return lrue

else:
return False

print("checking prime number or not")
num=int(input("Enter the number: "))

print("The given numbers is: ",is_prime(num))




pyramid




Q

tables_ _tables_

—_—————————————

print("Enter the tables no:")
n=int(input())
print("The table n is:")
foriinrange(1,11):
print(n,"x",i,"=",i*n)




Cad{ng Python PUN MENU
Nothing changed

def celsius to fahrenheit(celsius):
return (celsius * 9/5) + 32

def fahrenheit to celsius(fahrenheit):
return (fahrenheit - 32) * 5/9

celsius_temp = 25
fahrenheit_temp = /7

print(f"“{celsius_temp};°C 1s {celsius_to_fahrenheit(celsius_temp)}°F")
print(f“{fahrenheit_temp;°F 1s {fahrenheit_to_celsius(fahrenhelit_temp);“C")
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